S 12~ 14K FDLB A=RE-F—TUoHBEEY B=#X-TOy/HiHEEHK
N {52 K4 BERAUL | REBRAUF | BRARAU | R—F2R
1 Bk =& 85.00 55.00 30.00
2 |iZE A 83.60 80.00 3.60
3 R OHEF] 77.44 70.00 7.44
4 Tmr & 62.44 55.00 7.44
5 ¥iE =3 39.76 37.50 2.26
6 |—= {EE 38.20 37.50 0.70
7 Bl EF 36.50 22.50 14.00
8 A3 FEtd 34.00 16.00 18.00
9 25 =i 33.60 30.00 3.60
10 [ K E3F 24.76 22.50 2.26
1" |8k EH 23.44 16.00 7.44
" FZH R 23.44 16.00 7.44
13 |[YIN XIAOWEN 12.00 12.00 0.00
14 |[BEAXN &R 11.55 10.00 1.55
15 |FH B51E 10.85 9.30 1.55
16 |FRE = 9.44 8.60 0.84
17 |JIE % 7.94 7.00 0.94
18 |BRR AE 7.44 7.44
19 |5 EF5 6.80 6.30 0.50
20 |Fj% = 6.68 513 1.55
21 |[HRTY P 6.28 5.13 115
22 | R == 5.63 513 0.50
23 | RIR BE 5.15 4.60 0.55
24 |FRYE FH 4.85 3.70 1.15
25 |[BHE XY 4.80 4.20 0.60
26 |{B/& RR{E 475 4.40 0.35
21 |WR ZDH 4.70 4.00 0.70
28 |NH #H 4.30 3.70 0.60
29 HEEF ¥ 3.69 3.40 0.29
0 |hE EFE 3.60 3.20 0.40
3 |B/A E=E 3.60 3.00 0.60
30 |{EiE F 3.60 3.60
0 |LiE BFE 3.60 3.60
30 |hiE B 3.60 3.60
35 |F ER 3.50 2.80 0.70
36 |hFt #F1E 2.26 2.26
6 |&HH EE 2.26 2.26
36 [ IKkFH 2.26 2.26
39 |AT #HxE 1.85 1.85
39 [/IZNKREF (53 1.85 1.85
4 |E 1.55 1.55
42 |¥BZ EI 1.15 1.15
42 ED HE 1.15 1.15
4 |BIT EF 0.94 0.94
44 |RKH IERFK 0.94 0.94
46 |fEBE H{Z 0.84 0.84
46 |FHBA FFEFE 0.84 0.84
46 (YR EFTE 0.84 0.84
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O 2B~ 14X FDHE A=RE-F—TUoHBEEY B=#X-TOy/HiHEEHK
NE iz K4 BEIRAUL | REERAUL | MRARAUF | R—FR
49 |3EK BUTE 0.70 0.70
49  |IRAR Bj 0.70 0.70
49 | KE #07E 0.70 0.70
49 )l FHFTE 0.70 0.70
49 |BH ER 0.70 0.70
49 |BB5Rk EZT 0.70 0.70
49  |IUAKR BIE 0.70 0.70
56 |#FxE Bi# 0.60 0.60
56 |[/\FR 2 0.60 0.60
56 |/IMNR OKRE 0.60 0.60
56 |SH EF 0.60 0.60
56 |#F EZK 0.60 0.60
61 |=iE F=H 0.55 0.55
61 [;BHF EH 0.55 0.55
63 |SK KR 0.50 0.50
63 |&€F EBEE 0.50 0.50
63 |EFHE /B2 0.50 0.50
63 |HHE HNDY 0.50 0.50
67 |BH BFE 0.45 0.45
67 |fEE DF] 0.45 0.45
67 |3EA FEib 0.45 0.45
67 |hH T 0.45 0.45
71 | Y E 0.42 0.42
7MW Vi 0.42 0.42
13 |FHF FYA 0.40 0.40
73 |AAAX ERE 0.40 0.40
75 |HE BE 0.35 0.35
75 | EH 0.35 0.35
75 |{RiE EEH 0.35 0.35
75 |RAIR HHE 0.35 0.35
75 |G ES 0.35 0.35
80 |{EpE 2ol 0.29 0.29
80 |=iF EX 0.29 0.29
80 |HA+m EE 0.29 0.29
80 |¥H EBE¥ 0.29 0.29
80 |k EER 0.29 0.29
85 |EIfF E=x 0.25 0.25
85 | K¥¢ EE 0.25 0.25
85 |EM BEF 0.25 0.25
88 |F/iA FIWE 0.23 0.23
89 |BREE % 0.21 0.21
89 [a[4&t 42Ty 0.21 0.21
89 |&F KB=T 0.21 0.21
92 |fRIF B 0.18 0.18
2 |H =B 0.18 0.18
u |BR B 0.17 0.17
95 |{EiE tiE 0.15 0.15
95 |BAKR /N2 0.15 0.15
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S 12B~ 4R L FDE A=RE-A—ToHBEHK B=#K-JTAv/HIFHEHK
=04 K& BEIRAUL | REERAUL | MRARAUF | R—FR
kS P S 0.14 0.14
98 [/NFH FHD 0.12 0.12
9% |HHE BR 0.12 0.12
100 |=ZF # 0.1 0.1
101 |FEESF R 0.10 0.10
101 |HFE BK 0.10 0.10
101 |[RE KB 0.10 0.10
01 |FH BEE 0.10 0.10
101 |ZKHE 2&F 0.10 0.10
101 |8RIF Fhx 0.10 0.10
101 | KE & 0.10 0.10
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